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( Composition

Use the following pictures and guide words to write a paragraph
about "What they like doing"

(playing - tennis)

(Brainy - running)

"What they like doing"
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( Comprehension )

Bears are big animals. They live in the jungle or the zoo. Their

colours are black, brown or white. They are funny animals. They
can walk, run and climb trees. They like eating honey. Yesterday,
Ahmad went to the zoo with his Dad because he wanted to see
the bears. He saw a brown bear. He gave it some honey and
some bananas. He was very pleased because he saw the bears
eating and dancing. Bears are funny.

Choose the correct answers from a,b,cand d:

1) Bears live in the -—-——-——-——————-

a)school b) jungle c) gym d) cinema
AR ICTe SN ole | P —————————————————— :

a) fly b) swim c) climb frees d) sing
3) Bears eat -

a)honey b) meat c) fish d) pizza Bears
4) The underlined word (He) in the fifth line refers to -- —

a) Ahmed b) bear c) Mum d) sister

5) Bears are
b) sad b) funny c) hot d) fit
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(going to ) s Jafiwal) (1)

(S Sl e (eSS

(1) am
(&) is + goingto + (inf.)
(&) are

(g giray ) Jifieual) b Alnd o 600 Las juaaill S i) 108 Jariany

| (am going to) visit my friend next weekend.
He (is going to) watch TV this evening.
They (are going to) play a match after school.

kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk

Choose the correct answer:

1) Dalalis going to ...ccovvviiiiinnnn. a party next week.
a) has b) have c) had d) having

2) | going to phone my friend this evening.
a) am b) is c) are d) were

3) Ahmedis .....cooovvieiin.n. watch TV after work.
a) go b) going C) going to d) goes

4 ) They are going .......ccceevvenn... play football after school.
a)in b) at c) on d) to

5) What ........... you going to do then?
a) are b) is c) am d) was
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(Comprehension )

My name is Jana. | am ten years old. My favourite sport is

D D T T T T T e

¢ playing tennis. | play tennis every weekend. | play tennis with my
sister Nadia. Nadia is nine years. | and Nadia like to play tennis to
keep fit. We also eat healthy food. We drink milk and juice. We do
not eat unhealthy food. We do not have any fizzy drinks. We usually

have a shower nearly bedtime. | and Nadia go to bed early.

Choose the correct answers from a,b,cand d:

1) Jana and Nadia's favourite sport is

a)football  b) tennis C) swimming d) basketball

2) The underlined word We in line four refers to

a) Nadia b) Jana c) Nadia and Jana d) tennis

3)Jana plays tennis -.

a) everyday b) everyone c)every weekend d) everyyear

4) Jana and Nadia usually have nearly bedtime.

a) ashower  b) breakfast ¢) lunch d) tennis
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C Composi ion)
Use the following pictures and guide words to write a paragraph
"What you are going to do today"
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Composition

Use the following pictures and guide words to write a paragraph
about : " What | usually do to be fit "

(go - bed -early )

What | usually do to be fit
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Composition

Use the following pictures and quide words to make a paragraph of
four sentences about ( your favourite sport )

( keep -
My favourite sport
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Composition

=

A New Baby

tures to make a paragraph about :

Ing pIC

Use the follow

(blessed — baby)
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(4)

(3)

(2)

Mr Ahmed taught me English at school last year.

(4l g yrll oS ) imay addiis *

How much is this dress?¢

Itis (ten KD).

3l e Jlas a5 (22ad) oS ) (ciray padius

How many seasons are there?
There are (four seasons).

Oy Oy
gy o) 45kl 5l ) e Jlas a5 (
you?
saall e Jlas a5 (Baall a8 ) inay a2ding *

you go to school?

| go to school (by car).

el ) ol e Jl a5 (el oS) i aadiug ¥

How old are youe
I'm (ten years old).

sl e Jld A

(1)

— — —  tz
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N o™ Y

>k 3k 3k ok >k ok sk >k Sk ok ok >k Sk ok sk >k ok sk >k ok ok sk sk ok sk >k Sk ok sk Sk ok ok >k Sk sk sk Sk ok sk sk Sk sk Sk ok sk >k Sk sk sk Sk ok ok >k ok sk sk Sk ok sk sk ok ok sk sk ok sk sk ok sk sk sk ok sk sk ke ok

How long does the earth take to go around the sun?

How much water do you need?
It takes (a year).

| need (two bottles of water).

Form Questions :

I'm ( fine).

o~
O al sall
How are
How do
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< Grammar >

(The Simple Present Tense) bl alall (1)

G559 (dlall A ddaa By B cgill g cla Al ElaaY) oo uaill ) pudalal) aadiieg *
Lalad) Jaddl (ed ) Al pa (ALY Ciy puail) B Jadl) (1
(played/cooked/washed/brushed/prayed ----- etc)
(ate/bought/felt/flew/had) & Ls Bias (<l (ed)ld ciucal ¥ 33LAY JladY)
r0ie Agle A1 clalS pa sl palal) aadio *

(yesterday/ago /last/ in the past /in 2000)
(Cléla) i Qo )osaadl B Jadll & (did ) asdied J) gl *
(SUL2) gl (asar ) saaal (b Jail o (dlidin't ) pediuad (il *

Examples:
e Did you go to school yesterday?
Yes, | did.
No, | didn't.
e What did you do yesterday?¢
e | went shopping yesterday.
e When were you born?

| was born on May 1st,

Choose the correct answer froma, b, c and d:

1)They oo to the gym yesterday.
a) go b) goes C) going d) went

2) What ................ you do |last week?
a) do b) does c) did d) doing

3)Sally ..ol born on February 5,
a) was b) are C) am d) is

4) Nasser and Sami............... football in the gym two days ago.
a) play b) plays c) played d) playing
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Use the following pictures to make a paragraph about:

"Desert animals"

(4

(monkey — cleverest)

(elephant — biggest)

The Desert Animals
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C Composition )

tures to make a paragraph about

Ing PIC

Use the follow

"The Lizard"

N

(change - colour — hide)

(lizard — clever)

(live — desert)

- snake)

(shorter

The lizard
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You mustn’t swim in the lake.

=

You musin’t run.

o ok ok ok ok ok ok 3k 3k 3k ok ok ok ok ok ok ok 3k 3k ok ok ok ok ok ke ok ok 3k 3k sk sk ok ok ok ok ok ok ok 3k 3k ok ok ok ok ok e ok ok 3k 3k 3k ok ok ok ok ke ok ok ok 3k ok sk ok ok ok ok ok ok ok ok sk sk sk ok o ok ke sk ke sk sk sk ok

Choose the correct answer:

1) We (oo swim in the lake.
a) must ) Mmustn't C) can

2)We (i be careful when we walk.
a) mustn't ) Mmust c) can't

3) What ..ol this sign mean?
a) do ) is c) doing

S)Wemust coooiiiiiiiiin, at the red fraffic light.

a) stops b) stopped C) stopping

6) We mustn't ...l in the classroom.
a) eating b) eats c) ate

You must stop.

You must walk.

d) are

d) aren't

d) does

d) stop

=

¥
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tures to make a paragraph about

"A visit to the Green Island"

A Visit to the Green Island
41
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( Composition )

INg PIC

(What you can do Green Island )

"What you can do Green Island"

(Green Island — beautiful)
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( Grammar )

(The Continuous Past Tense) saiwall alall ¢

(oS g oalal) (B 5 palinn ilS (Al Slaal) g8 il diual) (el () addiey *
(He/ She/ 1t /1) was

+ ing
(You/ We / They) were
o) palall g saial) ialal) (1) 2 Oilan Jay ) (When) 4alS aadius *
Examples:
e | (was playing) when the ball hit my head.
e They (were running) when he fell down.

Choose the correct answer froma, b, c and d:

1)They oo climbing the mountain when it rained
a) were ) was C)is d) am

2) What ................ you doing when they came?
a) was b) were C) am d) is

3) Sally was ...l when her Dad phoned.

a) read b) reads c) reading d) is reading
4) Nasser was riding his bike when hisleg ................

a) hurts b) hurt c) hurting d) are hurting
5) Nasser was playing football ................ the ball hit his head.

a) who b) when Cc) why d) where



Use the following pictures to make a paragraph about :
The Everest

Everest - mountain Zed Al-Refai —climbed

climbing - 61days Kuwait flag — top

A Visit to Everest
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Use the following pictures to make a paragraph about:
"A Football Match"

(scored -three - goals)

(Kuwaiti team - winner)

A Football Match
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